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Q: ) In fiber reinforced concrete, if the fibers are not
dispersed properly, then the resulting problem is called

as- (RRBJE CBT-Il 28-08-2019)

A : Spalling
B : Congestion

D : Segregation -

Obna




Q: ) As per IS 456:2000, the flexural strength of concrete
(in N/mm?) for the characteristic cube compressive

strength ofES N/mmz)will be:
(SSB Himachal Pradesh 18.11.2018)
(ESE 2005, 2009)

A:2.5 J%K’\ Q\SN/Y"‘ML'

B:0.35 2
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Q: ) The minimum cement concrete (kg/cum
dock (underwater construction) with
is prescribed by the India standard as: IS‘(’S—G I AR
(DDA JE 23.04.%0%\3% ' o ‘ |
%f" RRER &b,

B: 250 Sea NQ*@-\/&QY

C:400
D: 350

r a ship







Q: ) Permissible stress ocb,och, as per : 456 for M 20
concrete is : (NBCC JE 2017)

6cbl3) lontradt Bn G2 229 Gon Premty

C: 6 N/mm? =) Q O = Gé:} ’Q—’,@

D :4 N/mm? B



Q: ) Which of the following exposure conditions will a
structural steel element be classified when exposed to
corrosive fumes? (DDA JE 23.04.2018)

A : Extreme
B : Severe
ery Severe <
J : VMloderate -
@ Dy
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Q: ) Empirical relationship between tensile strength
compressive strength of concrete is given by:

M.P. Sub Egg. 4 Sep 2018 2.00 pm

A : Tensile strength = 0.47* fck

B : fck = 0.47*tensile strength

C : Tensile strength = k (compressive strength)"

k= Compressive strength
D : K= tensile strength * fck @@‘ﬂ{j}




Q: ) Give the full form o
(Haryana SSC 13.04.201¢8

Reinforced brick Lime Concrete

B : Reinforced Brick Lime Cement
C : Reinforced Brick Light Concrete
D : Reinforced Brick Light Cement

@QM}




Q: ) Standard cubes of a concrete mix are tested for
ompressive strength, which is observed to be 36 MPa.
Approximate flexural strength (MPa) of this concrete
according formula provided in IS 456 will be:
(Chhattisgarh professional exam board 2016)

13. 5\6
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Q: ) Why steel is commonly used as good reinforcing material?
(DFCCIL, 17-04-2016)

A. It is cheaply available in bulk.

B. Thermal coefficient in nearly equal to concrete.

)%. It possesses low tensile strength.

. It develops good bond with concrete.
Select the correct options.




Q: ) As per IS 800-2007, the maximum effective

slenderness ratio of a member normally caring tension

———————— —
but subjected to reversal of stress due to towindor

LR L Reiinalgndniinkid
earthquake forces should be
(BSPCL JE Civil 29.01.2019)
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Q: ) What is the very first crack that occurs in any RCC

member, especially if constructed during

(RRB JE CBT-11 29.08.2019)

A : Flexural crack

B : Settlement crack
C : Corrosion spelling crack 5 Q{Q}
D>; Shrinkage crac ot




Q: ) The width and effective depth of a reinforced concrete
beam are 300 mm and 500 mm respectively. The stresses

induced in concrete and-stéel due to applied loads are® &
N/mm? and 140 N/mm? respectively, the material used. is M-

15 grade concrete and mild steel. What will be thé&dépth of

neutriﬁis? TakSSSC JE 31.07.2016)
A:142.5mm 3 O00my,,
ﬂoz mm 6ChC 3 SNlmmt: G4t =) (C[-D A [Pwr—
C:168 mm -
D : Insufficient data \fbf BQ,Q_S\\LQ_ AB-PL \
@ﬁf‘ig'-i.(‘c__:\ TN S \ HA S Xgov
Ac ) 2-02—7%\ C (QX%“T \OFO



Q: ) The balanced design gives
(AIRPORT AUTHORITY OF INDIA JE 2015)

A : Smallest concrete area and maximum A,

mallest concrete area and minimum A

C : Largest concrete area and maximum A
D : Largest concrete area and minimum A

@Omw\
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Q: ) For a beam ofkeein its depth

constant the width will vary in proportion to-
(UPSSSC JE 31-07-2016)

2
/Bending moment (M) M -) & by\&

B:VM
C: M?
D : None of the above




Q: ) In the steel reinforcemEnmt-calculation for RCC, the
additional length fo

B ——
two 45° bent-ups in reinforcing bars is.
(NWDA JE 2019)

CoHvedt ——
_ﬁimes the length of distance between the centre of the

upper and lower arms of the bent up bars
B : 84 times the total depth of beam or slab minus bottom and
Ttop cover
C : (1-sin 45°) times the total depth of beam or slab minus
bottom and top cover
D:sin 45° times the length of distance the centre of the upper
and lower arms of the bent up bars.
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: standard, the avera
permissible bond stress (tbd) for plain bars in M25

grad.e_o.f_cnnc:ete is:
(LMRCL (ASS - MAl ANAGER) 15-05-201¢
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Q: ) When hooks are formed i .; the

interna 5 of the bend should be at least

times the diameter of the bar.

(SSB Hlmachal Pradesh 28.11.2018)
)

K= 27 Mild Sk



Q: ) In simply supported slab, alternate bars are
curtailed at (SSB Himachal Pradesh 18.11.2018)

A : (1/5)* of the span
B :(1/6) of the span
/7)™ of the span
D : (1/8)'" of the span

(Shhingy




Q: ) Reinforcement bars are generally bent:
(NBCC JE 2017)

A : By heating
B : Welding

MW anually using leve

D : By dies and jigs

Qb
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Q: ) For 45° bend up bar the additional length of one
bent up bar is: (DMRC J.E. 12.04.2018) @

A : 0.
%Azid

C:0.09d

D:0.52d




Q: ) Diagonal tension reinforcement is provided in a
beam as

(SSC JE 2011 & 2007/ UK Combined AE paper-I, 2012)

A : Longitudinal bars [\Vj’
ﬂent up bars and vertical stirrups -

C : Helical reinforcement
D : 90° bent at the bend of mail bar




Q: ) Torsion resisting capacity of a given reinforce
concrete section......

(SSC JE 3 MARCH 2017/ M.P. Sub Eng. 3 April)

A : Decreases with decrease in stirrup spacing
B : Decreases with increases in longitudinal bars
C : Does not depend upon stirrup and longitudinal

steels @GNN}E

%&mﬂjﬂsﬂlb-th&increases in stirrups and
= = M
ongitudinal steels
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Q: ) What is the nominal cover to rebar in reinforced
cement concert exposed to very sequre conditions?
(Coal India 2016)




Q: ) As per IS 456:2000, the minimum beam width

required for a reinforced concrete beam, for 2 hours of
fifye exposure is: (SSC JE 25-09-2019)

A 250 mm

OOmm
. 150 mm @ Gb\(“&}

D:300 mm




Q: ) A cantilever beam of size 230 x 400 mm has a clear
span of 2.5 m and is supported on a 400 x 400 mm
column. The effective span of the cantilever is-

(RRB JE CBT-Il 28-08-2019)




Q: ) As per IS: 456-2000, regarding slenderness limits, a simply
supported or continuous beam shall be so propertied that the clear

distance between the lateral restrains does not exceed ,
whichever is less, where d is the effective depth of the beam and b

the breadth of the compression face midway between the lateral
restrains. (UPRVUNL JE 2019)

e 5% o GOb »
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50b° :
: l“d’ or30 b

o NL2 :
: -**j_;’* or 30 b

D: “’:;k or 60 b




Q: ) For a singly reinforced over-reinforced section
(Telangana A.E. 20-09-2015)
1. The lever arm will be less than for a balanced section —m»
\j/m: maximum stress developed in concrete would be equal
to the allowable stress
. The maximum stress developed in steel would be equal to

e allowed stress
Of these statement the correct ounces are

A : 1 and 3X @6«—
—&:1and 2 -

C:2 and 3X
D:1, 2 and 3X
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Q: ) In a doubly reinforced rectangular concrete beam,
the distance between the centroids of compression and

tension reinforcement is generally known as:
(BSPHCL JE Civil 29.01.2019)

<
_ﬂever arm V
B : Neutral axis depth @
C : Neutral arm
D : Critical axis depth ‘ |

T




Q: ) A doubly reinforced beam is considered less
economical than a singly reinforced beam because:
(NBCC JE 2017)

A : Shear reinforcement is more

_%)mpressive steel is under stressed . =) Un&(omil
~—

C : Tensile steel required is more than that for balanced
section
D : Concrete is not stressed to its full value

()




Q: ) In a continuous beam, the moment coefficient of
the innermost support for the dead load is:

(LMRC (@wiT MANAG R) 15.05.2018) &wm. -

Sfdh MOPnasr
ma M‘“ it of | mext o | S ford: IWNL

/ Tdpe ogﬂmd\ €nd Rfan MIJM&A?‘« H’" SU{JPM.
C: 1 9 1

D:1/24




Q: ) For a 30 degree cranked or bend up bar, the inclined
length of the crank is equal to:




Q: ) As per 1S:456-2000, for simple supported two-way
slabs of shorter spans (up to 3 m) with mild steel
reinforcement, the span to overall depth ratio generally
assumed to satisfy vertical deflection limits for loading

class up to 3 kN/m is: (UPRVUNL JE 2019)
A ~a 4T

A: 45 . (an NG g Codina
: 40 -
E::O 35 4—0 Z% S
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Q: ) A rectangular slab having effective lengths L, and

L, supported along four sides on unyielding supports is
subject to a uniform load 'w' per unit area. Shear of the
load on a central strip of unit width parallel of L_is
given by Ly*/Lx*+Ly*w. This method of approximate
analysis was given by: (CIVIL ESIC JE 2019)




Q: ) The minimum cover for bars in RCC slabs should be:

(NBCC JE 2017) ‘
J/

A:15mm AMJOMJ CYHW‘\ "
ﬂmm or dia of bars

C : 25 mm of dia of bars
D : 15 mm or the size of the aggregate




Q: ) Thickened part of the flat slab over its supporting
column is known as: (NBCC JE 2017)

A : Column head
B : Drop panel —=

C : Capital
D : None o Eq




Q: ) The thickness of the topping of a ribbed slab, varies
between: (SSC JE 25-01-2018)

%2:2 f;::"m WQwM OF'LLD‘DW@’] Hra o o?:%w&
C:8cmto 10 cm = T0m Jooén.
D:12cmto 15 cm WX*'D\‘Q‘[)% Ra 5 e

B o O TP X Sl
- =

S@Ma WMW%R®




Q: ) A reinforced concrete column of size 400 mm x 400

mm is having the diameter of longitudinal bar as 20
mm. The pitch of lateral ties in such a case should be:

(SSC JE 25-09-2019)
zﬁ‘ a!,\‘l_p ILGQ?'{,‘ LOJ’(MQ‘DIW --NODm___m
| ” q)‘o"ﬂ) run =) |€K9\07l320m=m

SODMM _1




Q: ) The ultimate load capacity of an RCC column with

ITIC UIIINALE 1994 ¢
lateral ties is attained when it develops a limiting strain

of (Civil ESIC JE 2019)

A:0.002, 0.67 f,, 0% I 5 = 0 448 5K

B :0.0035, ., |
/o 002, 0.446 f 'S @
. 0.0035, 0.67 f,
@@m




Q: ) Wall footing is a type of-

(Hariyana SSC JE Shift-1 11.04.2018)

A : Stepped foundation
B : Deep foundation

%pread foundation

D : Strap foundation

@@wat
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Q: ) In the case of isolated square concrete footing, match the
locations at which the less resultants are to be checked, where d is
effective depth of footing and select the correct answer using the
codes given below the lists:

SSB Himachal Pradesh 18.11.2018 (ESE 2006)

Stress resultant Location

. At tace of column

2. At d/2 from face of column

. At d from face of column




Q: ) A short column of 20 cm x 20 cm section is

reinforced with four bars of steel having total area of @
J

steel 20 sq cm. If permissible compressive stress in steel

and concrete is 1300 and 40 kg/cm?, the maximum safe
load carrying capacity should not exceed

(SINVL JE 07-10-2018) —)\_—_—_Q DX 20 3 400~

Ag ¢ :)a 00— FC 3 - @

=) Sxc Act Sce fe

A:412 kg
B:4.120 kg




Q: ) Reduction co-efficient of a reinforced concrete

mn with an effective length -@ d 5|z

. (M.P. sub Eng. 4 Sep 2018 9.00 am)




Q: ) In reinforced concrete footing on soils, minimum
’___ AR .

thickness at the edge should normally not be less tha
. AKHAND AE 2013/SSC JE 2012)
A:250 mm -

C:100 mm N

D:200 mm










